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e Compute the characteristic equation that we want:

(s=p1)-+(s—pn) = .~s"$+ ris" ll + - J—F T'n-18 + Tn
(s+2V(s+3) = €%+ Gga 6
e Compute the characteristic equation that we have:

det(sI —A)=s"+a;s" '+ .- +a,.15+a,

e Compute the controllability matrix of the original system (and check that det(W) # 0):

W=[B AB ... A"'B] \’['\Q)U\
X
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e Compute the controllability matrix of the transformed system:

" -('(‘( - [Bt'd ‘4(‘1'181'(‘[ S ‘4::( 3 Bc('(]
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where

—a; —Qy r —Qpy] —Qy, 1

1 0 - 0 0 0

Ay = 0 | B 0 0 Beuy = 0

0 | 1 0 0

\Y,
e Compute the gains for the transformed system: .
X< Ax * ‘BU\
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